Linux[T]T]

[0 Linux

1.

°* ps
(T
ps aux # I BSD 111
ps -ef # [T
ps -u user # [TITIIT1T]
ps -p {pid} -f
e top / htop
(T TITITTITTT] htop [TTTTTTITT]
top # 111D q [
htop # [T
e pstree
(ITITTITITIT]
pstree -p  # 11111 PID
2.
o kill
(10 ID (PID) [IT1T]
kill -9 PID # (111110 SIGKILL[
kill -15 PID # (1111110 SIGTERM[IIT]
o pkill
(I
pkill -9 nginx # [T11110 "nginx" 1T



e killall
(LITITTITITT]

killall -9 python  # [TTT11111 "python" 111

3.

e nice

-20 1110

nice -n 10 command # [TIIIIIIIT

® renice

(LITITTITITT]

renice-n 5 -p PID # 1101 PID [I111J 5

command & # 1110

e jobs

[LITITTITIT]

jobs -1 # [ITIIIIT] PID

e fg / bg
(T

fg %1 # 11
bg %2 # [0

e nohup

[LITITTITITI

nohup command &

fg [ITTTITTT] bg 1]

11m
2 [IT11T11]

# [ SIGHUP [T

19 110

nohup.out



5.

* pgrep
(ITTTT PID[]

pgrep -u root nginx # [I] root [11] nginx [I1 PID

6.

e vmstat

[LITITTITTT] ceulam 1odn

vmstat 1 # (111110

e pidstat [[]]] sysstat []
(ITIT] CPUIIIIII

pidstat -p PID 1 # [T1110J PID
7.
e Isof
(LTI

Isof -i :80  #[II0 80 [III[
Isof -pPID  #[[II]  PID (110

e strace

(LTI

strace -p PID  # [TITTITITIIII

1. [T



ps aux | grep "bad_process" # [I] PID
kill -9 PID

2. [T

nohup python script.py > output.log 2>&1 &

3. 11 CPU 1]

top -0 %CPU # [ CPU 111D
(LTI TITITIITIT Linux T IITIIIIT]
man ps [TT]]T]

0 Linux T

1I
(1) ps[IIIITI

(ITIT] PID[] CPULIIIITIN (1111

ps aux | grep <[IT] > # QIO
ps-ef [ grep <01 > # 111D
ps -p <PID> -o pid,ppid,cmd,%cpu,%mem,stat # [TTTTIII111]

e [TI1T] 0
o %CPU [] CPU [1TTJ
o %MEM [TIIII]
o STAT [ITITI1] s=10 R=00 z=II10
o PPID [IIT] ID
(2) top / htop [IIT1T]
(IITTIT] (110 0 CPUIIIT]
top #[001 CPUM
top -p <PID> # 110 PID

htop # [T

man 0 [1]



e [II1I 0
o[] P[] CPUTII]
o [] MI[III
o [J F1[IIIT

2.

(1) /proc/<PID> []]

Linux [TTITITITITT /proc/<PID>/ [TTTITITIT]
Is /proc/<PID> # [0
cat /proc/<PID>/status # (1111110 PIDTTIT]

cat /proc/<PID>/cmdline # [TIIIIIIII0
cat /proc/<PID>/environ # [T

e [I11] 0
o status [TTTT1T]
o statm [TITIIT]
o io[] I/O [II1J
(2) pmap [TIT1T]
[LTTT1] LLIT11] [}
pmap -x <PID> # (1111111

3.
(1) Isof [ITITIIT]

Isof -p <PID> # (IO
Isof -i :80 # 111 80 [(I11[J
Isof -u <[IT] > # [T

e 1111 0

o i (I



o -c<Om > [T

(2) netstat / ss[]]I1]]

(LI (LI 0

netstat -tulnp | grep <PID> # [TTTTTIIIITI1]
ss -tulnp | grep <PID> # (IO

4,

(1) pstree[]]IT]

o om0

pstree -p <PID> # [T

(2) strace[TIIITII]

[TTI (111 [1T11

strace -p <PID> # (IIIIITITT
strace -e open,read <[I] > # QIO

(3) gdb [TTTTIT]

(LTIITITTTITTIOT

gdb -p <PID> # [T

5.

(1) ulimit
(111 shell [TT11T1

ulimit -a # [T




(2) /proc/<PID>/limits
ANRNRRANANIN

cat /proc/<PID>/limits # (11111 /I

6.
(1) pidstat[J]]1T]

(1111 CPVU[IIT] 10 (11111 sysstat []]

pidstat -p <PID> 1 # [TIIII1110
pidstat -d -p <PID> # 111 I/0

(2) ps -eo[ITIT1T!

(LTITITITIIT]

ps -eo pid,ppid,cmd,%cpu,%mem --sort=-%mem | head # [T111]

1. 111
top # 10 CPU/IT PID
strace -p <PID> # [TITTITT1
kill -9 <PID> # 110
2. 11
pmap -x <PID> # 11117

cat /proc/<PID>/status | grep VmRSS # [ITTIT11T]

3. 11
Isof -i :8080 # [T



([TITITT] ps aux / top

(111110 cat /proc/<PID>/environ

11110 Isof -p <PID>

1110 pidstat / htop

1110 strace -p <PID>

111 ss -tulnp / netstat
T Linux [TTTITIT]
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